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In this circle,  

1
4

  and  
1
6

  are shaded.

What fraction of the whole circle is not shaded?
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Write these numbers in order, starting with the smallest.
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In this diagram, the number in each box is the sum of the two  
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1 This square is divided into three parts.

Part A is      of the area of the square.
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Write these numbers in the correct places on
the Venn diagram.
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Debbie has a pack of cards numbered from 1 to 20

She picks four different number cards.

Exactly three of the four numbers are multiples of 5

Exactly three of the four numbers are even numbers.

All four of the numbers add up to less than 40
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 At the start of June, there were 1,793 toy cars in the shop. 
 
  During June, 

 
• 8,728 more toy cars were delivered 
 
• 9,473 toy cars were sold.

How many toy cars were left in the shop at the end of June?
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Total13

There are 24 coloured cubes in a box.

Three-quarters of the cubes are red,

four of the cubes are blue

and the rest are green.

How many green cubes are in the box?

One more blue cube is put into the box.

What fraction of the cubes in the box are blue now?
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Note that these questions are sorted in date order (most recent questions first).
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